(Gc A B #HR
BIRARETY &R (BEGER) &

5 =l H w T R | X H
. e O _
A B 5% et
=| R . XXX X X o AT B % B 4 OOmh
2 4 S T XX S
¥ AN =
MoA B K 4 OO0 0O e e 210,000 "
Ok OH1OmM Sf XX £ 10 A 1 Axxesfn XX &£ 8 H 4 HZET
B IR ZERR 1A 180
= 1E [ 2 A B S
FEIRAKEOHH | S XXHE 10 A 1 H SR SF1 XX 4E 3 H 28 H
BEWRIRZEDORSR L7
H Rk %o AF XX 8 A 4 B |° A XX 8 H 5
g5 RIKEDKH SEW A 4 H H B F O A SEW A 4 H H
O BN B %A 10,910 M (A) | 3 Kk & # 1,442,867 [ (D)
1 RBEANCBI2RENEm S NN L5
2 BBEAZVPEL CWEEMEE DT
KA WMIEREHE (3 #HEZTPEL CWEEBEBEOAL « HKR%
4 EFZTEL TCWIEMEE & OBSIRAOMIEEEC L 5 5)E
5 #EBZTEL TWEUEE DRERTRERINES
10 A4y 22 H 160798 M| 3 A4 3 H 16,365 [ A4y H !
11 A%y 21 B 153489 H| 4 A4y 21 B 114555 [ A4y H A
BEHOREBSETE|12 A4y 23 g 168107 | 5 A4y 22 A 120010 [ A% H a8
k# ( (B) X%
(C) ) XH¥% 1 A4y 21 B 153489 M| 6 H4y 22 B 120010 [ A4y H A
2 A4y 21 B 153489 M| 7 A4y 21 H 114555 A4y H A
3 A4y 20 0 146180 | 8 A4y 4 B 21820 H A%y H M
R o N = B 221 H
EiEoEBVEERLET, P _j___]
AT RS A TR | RREDESLTIEEL). |
S XX 4FE XX H XX H £ 7 OOMmOOHIXTBX—X

K 4 OO OO

FROEHEFHEHIIERELAERVN LD LD ET,
S XX 4FE XX A XX

un|

W 4 OOWE
% 00 00

BIETIESS

WE#5) 1 BRAKE CUIELHE) (BT 2ATEKEOROGEAEZ IR L T ZE0,
2 BB Lo HIRICIE B S DS A 13, bR I S TORT R DR X
(TG B L O EZ IR/ L TSN,




BRI FHROREE EF) FHHA N &£ A H

s

£ Ef £ H #
= N . SF A B b
" ) A A B T A A B kT
T 1 %5 3 = ik =

»
=

R =

[FIRARET L &R R E]

1 EEVESREH R AR FEVERENHZE X 1,722
240000 A X 1,22 = 10910 M (1OMHAmMMNEEFRA) — (A)

2 BRAEFIE (B#)

(1) BIRARZEBRLETZ 180 H LI 7309  — (B)
RHERE A (A) X fafdE (67,100)
10910 1 X 67,7100 = 7,309 H (MAmMEIVHET) — (B 1)
(2) BIRAREBR M4 180 2 5455 ] — (C)
RHERE A (A) X #afd= (50,100)
10910 M X 50,100 = 5455 M (MAmMEIVHET) — (C1)
(A EBRAR 4 48)

TEFRBIE 1T A THE 2 5N ED DRI S T 280 CURZEEANRES 18D T L v &
HINTHAITE, YA E IR OKRE) X30X (67,,100X1%50,,100) X 1,722
[F AR EBRLAT% 180 B LIN]

15,430 [ X30X67,100X 1 /22= 14097 1 — (B2) (AR ED
[ AR ZERRAAH4 180 A ]

15,430 [ X30X50,7100X 1 /22= 10520 [ — (C2) (PRI
OB RIREFHAZISORLINOHEZ (B) B1<B20HEA=B1 B1>=B20HA=>B2
OB KEBAAZIBOR B D A (C) Cl1<C2DHEAE2C1 C1>=C20HA=>C2

3 BIRRETYUEKRHE
BIMRERLEZISORLINO HEZE (B) 7,309 X 128 H+HFVEKRERME%IS0AEO A%E(C)
5455 X 93 H= 1,442,867 H — (D)

/N ~ 7. A
F'?ﬁjg Sf HFE A B»D ol A Sf £ B B ET ,Ai A OE H HBET




(G2 A Hl) =z=Z:: &7
BIRET U5 R (EFEEDP E

5 =l H w T R | X H
. e#smi O B
IRA =T R e %
S| & s XXXXX B Pt % B 4 OOmh
Y 2 XX Sk
¥ AN =
e R K4 00 00 H 240,000 g
Ok OH1OmM S XX 4 10 A 1 Exesafm XX 4 3 A 31 HET
B WREBR 1A 180
25 1A [ 3 A B S
Wik ¥ oW A S XX 4 10 A 1 | T SF XX 4 3 H 28 H
BEWRIRZEDORSR L7
HFIRK%Z 0 AF1 XX 4 3 A 31 " AF1 XX 48 5
K3 o K H SEvl! 4 H H B F O A SEn! 4 H H
O BN B %A 10,910 M A) | Kk & #® 951,917 1 (D)
1 BREPFNCBIT 2RE I M S 702 &4
2 BBEAZVPEL CWEEMEE DT
KA WMIEREHE (3 #HEZTPEL CWEEBEBEOAL « HKR%
4 EEEZTEL TCWEEE & OISIHOMHEEE L 5 P)E
5 BEHAZTEL TCWIEEUEE OERIFERINES
10 H4y 22 H 160,798 M| 3 A4y 3 H 16365 1 ALy H M
11 A4 21 B 153489 [ A% H 5! A% H M
BADOIKREBE L |12 A% 23 7 168,107 A%y H M H%5 H !
K#E ((B) X%
(C) ) X A% 1 A%y 21 B 153489 [ H %y H 5! A% H M
2 A4y 21 H 153489 H EE) H M A4y H 5|
3 H/%y 20 H 146,180 H A%y H M A%y H M
W B K 131 H
FROLBVERLET, | e T
) I
ST AERE | BREDESLTLEEL). |
FRXX AR XA XX H £ g OOMOOHIXTEX—X

K 4 OO OO

FREOFEEFEHIIF R EAER N LD RO E T,
SR XX 4FE XX A XX

un|

W 4 OOWE
% 00 00

BIETIESS

iE%) 1 BIRAKE CUIELTE) (BT 2HBEEEOEDEFAELIRM L TS0,
2 B Lo HIRICHEERN b Ea . bR W T ORT BB DR X
TG 5 FBEHYE OFERAEL M LT EEN,




” ERIZlho-FhoRt 85) FHH A XX XX H XX H
- L P
A SMXX4AE10 A 1 H 26 SMXX4E10 A 1 BH 26
Wk oo
N TR XX 8 H 4 H £T THXX 3 H 31 H £T
| RN H A Sk M Sk M
e
Ok & B 1,442,867 H 951,917 H

[FIRARET L &R R E]

1 EEVESREH R AR FEVERENHZE X 1,722
240000 A X 1,22 = 10910 M (1OMHAmMMNEEFRA) — (A)

2 BRAEFIE (B#)

(1) BIRARZEBRLETZ 180 H LI 7309  — (B)
RHERE A (A) X fafdE (67,100)
10910 1 X 67,7100 = 7,309 M (MAmMEIVHET) — (B 1)
(2) BIRAREBR M4 180 2 5455 ] — (C)
RHERE A (A) X #afd= (50,100)
10910 M X 50,100 = 5455 M (MAmMEIVHET) — (C1)
(A EBRAR 4 48)

TEFRBIE 1T A THE 2 5N ED DRI S T 280 CURZEEANRES 18D T L v &
HINTHAITE, YA E IR OKRE) X30X (67,,100X1%50,,100) X 1,722
[F AR EBRLAT% 180 B LIN]

15,430 [ X30X67,100X 1 /22= 14097 1 — (B2) (AR ED
[ AR ZERRAAH4 180 A ]

15,430 [ X30X50,7100X 1 /22= 10520 [ — (C2) (PRI
OB RIREFHAZISORLINOHEZ (B) B1<B20HEA=B1 B1>=B20HA=>B2
OB KEBAAZIBOR B D A (C) Cl1<C2DHEAE2C1 C1>=C20HA=>C2

3 BIRRETYUEKRHE
BIMKRERLEZISORINO HEE (B) 7,309 X 128 H+HFVEKRERME%IS0ABEO A%E(C)
5455 X 3 H= 951917 H — (D)

/N ~ 7. A
F'?ﬁjg Sf % A B H”,L\i Sf % H BET ,Ai A OE H HBET




